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1. The area of a circle is
2 7 (-38. 5 m2. Its circumference is
o2 vyt I 5 fFdt g@ F1  &HEEA
— o) 17 38.5m? ] IR qar |
7 H22 b) 11
c)3.5 d) none

SSC CHSL 27 Mar 2018 S2



2.The diameter of a toy

wheel is 14 cm. what is the
distance travelled by it in
( 15 revolutions.
T @ & afgd &1
A 14cm 8] 39 CEIRY
< 2TV —>

15 IFhI o9l G dd

‘ N 7§ gl a1 H
1 venolhdion — 2Ny #7660 W b) 760
c) 860 d) 960
= =
C= MWX‘B: 660




3. The radius of a circular wheel

is—21 cm. How many
/8)"—"7 ﬁlutions will it make in
travelling 924 meters?
Totddic  424x|dD %3 R T mﬁﬁ Prea
. = 21cm §| 924 m aa
dis. in Sty A F g AR
rhwch ene T EA
Yevoludion a)7 b) 44

7
| HP TGT TET 2018 |



/ Y. Find the diameter of a wheel
KHD MD C M that makes 113 revolutions to

\j 0 2 km 26 decameters.
‘/;’vmmmwaﬁm
St 2Rt 26 SFEhET # gl
5 ok g'qaﬂﬁ:ﬁrﬂsamm
g%;;\\ J 2260m
=N 2Ax2EXY A3Zm b) 6 m
AL 1 12 m d) 122 m
11 11
2z 25=
| U




5 The area of a circle and a square
are same. The ratio of the side

-\—]72-: a?" of the square to the radius of
2 the circle is
n=-a tF ga AR wH T
T r G WA §| @t 37T
3R ga & B #& 31?|1=nr-r
@__= a g |
| Y a)2m: 1 b) 1: V7
A1 d)1: 7

9
Territorial Army 31 Jul 2016



4+ A wire bent in the form of a circle
of diameter 42 cm is bent in the

/ﬁrm of a rectangle whose sides
are in the ratio 6: 5. The area of

2
- g &
YU 22 N> 2\ the rectangle is 6')( 5w =201
5= ‘Abuw aR # A g
ST AT % e o
42cm @] IR T W AT
g4 AT g o daFars
IR =t & U 6:5 R
m?ra?ra%mqmaﬁl
a) 540 cm? ) 1080 cm?
) 2160 cm®>  d) 4320 cm?




7~ The area of a circle is seven

times the numerical value of its
ova = 7 xC @ circumference. What is the
> circumference of the circle?

AN = TIx2 ¥ Rt 9@ F1 aAve FEA
3 Y= 1y —s TR TR & FEATcA® AT FT 7
= o 8] g9 @ aRfEr AT =

a) 616 units b) 132 units

C= Uux2 88 units d) Can’t say

| | 11



Q. If the difference between

®©

the circumference and
diameter of a circle is
30 cm, then the radius of
the circle must be

R fFelt g #r aRfer
3 car #T 3Ha% 30cm
g @ 5w g 1 B
F41 grefi?

a)6cm %7 cm

c)5cm d) 8 cm

| | 12



9. The area of a circle is

Y, 1+l increased by 22 cm if its
n, 2 radius is increased by 1
-b= a-b )

a-b -Q+b)( ) ol v Z 22 cm. The original radius of
T ,(”O, — the circle is

R T ga & B

= -.;ﬁ(zm)x]zaa— iem @@ & oM@ ar

7 FHFT &T%d 22 I cm

9¢ S g ga A
el el BT gar &y

a)6cm b)3.2cm

/3cm d)3.5cm

| | 1
RRB JE 24 May 2019 S2 3



{0¢ A man is running at the speed of
20 km/h. What is the time (in
seconds) taken by man to cover

one round of a circular garden of
radius 350 meters? ° 1X50O

U$ afFd 20 km/h Fr Afa
¥ als W 3 & FAER

)
geiar  fEd Bsr 350
T= D WxBOR  oqr s m an aw A
S ﬂ’ﬁxﬁ affd garT fFaem AT
(FFs A) SATT?
a) 412 b) 336
41396 d) 376

| SSCCGL T2 18 Feb 2018 | 14



[l- The circumference of two

meters respectively. What is
the difference between the
yux® :
area of larger circle and the
Isuxq smaller circle?

ar gar & aRE

132 ez 3ﬁT. (176) Hex
IS4 (i6-a W o & et am%l
_ ISux " UixR) a) 1048 m? b) 1076 m?
= loy g A 1078 m? d) 1090 m?

AWER 2019 15



|2+ The area of ring between two
concentrlc circles _ whose




/3- A rectangular plot is 420 m long

zD_l. O-l- /_\ and 84 m \'Nlde. It is surrounded

y=10 =\ by semi-circular flower beds

along all its sides. The area of the
24 7’(6 entire plot (in hectares) is x. The

value of x (érrect to one decimal
210 lSszb place) is : | GO %00

7X30 FIE WIAHR ToAlC 420m
S s, e FeraTiE a:ﬁ-' g ¢ w
A—S‘?:.q% 32.0Y ?13 HT aamm #) x
7)(8“\;&(\78 ) 832 e qw) i A
= 9Ygy  a)19.1 b) 18.7
#17.9 d) 19.4

|SSC MTS, 8 Oct 2021, S2 17



|4- A rectangular lawn whose length is twice of its

—2—
12 {
] 6
12
'n(lz +6 )
o P+ (D (D
M +326
= 2uxi2 + 314 x180
T
potr = [mmz + 2y x@O}*lO‘D
10D
= 28800
+ 56520
8522 o

breadth is extended by having four semi-
circular portions on its sides. What is the total
cost (in X) of levelling the entire lawn at the
rate of X100 per square metre, if the smaller
side of the rectangular lawn is 12m ?
(Take ™t = 3.14)

PE IATHR o, P dFas 3T
disi$ #1 Qe B O swdhr eemat w
IR AR IHIAT T F faT Fer
STaT ] qX At ® 100 9RY a9 e A
AN ¥ WAAdT FE & v Faa w3
gd g, If AR | fr B e
MaTFEE12m g | (r=3.14 )

/85,320 b) 78,650 «c) 86,540 d) 97,625

| SSC CPO 2020, 23 NOV S2 | 18



|6 The length of a rectangle is three-
fifth of the radius of a circle. The
radius of the circle is equal to the
side of a square whose area is

2
<X
2 7 2
/\ /6400m . The area (inm*) of the

= 80 rectangle, if the breadthis 20 m is:
(-u8 P TH WA B FEE, T g A
b= 20 —>qq¢, Broar # - §1 38 q@ & B

T b T A s & e ¥
fSaer a9%d 6400 m? g1 3T
g H =@isE 20m &, A 3HET
8T (m? H) AT AT

a) 1200 b) 480

}/960 d) 1000

|SSC MTS, 13 Oct 2021, Sﬂ 9



[¢- The area of the shaded region in
the figure given below is

Ireorfed R I HEr &1
AAB IdT H|

a) a; (g — 1) sq.units
b) a? (r — 1) sq.units
/faz (g — 1) sq.units

aZ
d) -y (r — 1) sq.units




|7 Find the circumference of a circle whose

{jmd) ko Cm] diameter is 12 inches.

| ga #T IR A HiioT @ @ 12
s %| Y= 6 inth

a) 87.4672 cm %95.7072 cm
c) 88.1876 cm d) 90.2348 cm

[6d G096

:679756 -

3
7

SSC CHSL, 17 Mar 2020 S2 21



Ring/annulus (IshUY/ded):

wsta. of Birg - nR= 7>
F@Evz} )
=7 (Ew)(ﬁ—v) ~—Rj—




[g. There is a circular garden of
radius 21 metres. A path of

1=2l ' width 3.5 metres is constructed
K= 24.5 *\w\b just outside the garden. What is
us.s ¢ ‘ the ar;;a(;n m?) of the path?
“\N7o oV 21 Bear aem s
7 (R+7) (£7) AR FefaT ¥ W F S
J aTeT 3.5m WSS arer T 97
=22 x4 T PAT fRAT AT ¥ 9w
—F 2 T 9% (m? H) F471 87
A'500.5 b) 575.6
= \0\0] c) 521.2 d) 560.7
L

23
SSCCGL T2 21 Feb 2018



7 |9 The circumference of a circular

g.%e%' playground is 308 meter. There is

Zf?‘fx’{ 7 meter wide path around the
Y= 9 ground. The area of the path is

U& AR Hq H IR 308

K=56 et B 39 dAew & It 3k

T 7HI Gl wEar & 39
IFS HT TP IdT H|

XL 4 |05 X a) 2130 m? b) 2410 m?
=t + c) 2510 m? A1 2310 m?
= 23] 0

- - 24
RBI Assistant Prelims 2017



P+v= 14l

= M7= 2002
= @)Rr) S
= %x%x (p-v)= Q002

=) K"‘(:7

I\,
T - S Yl
2

z L

20.The sum of radii of the two
circles is 91 cm and the
difference between their area is
2002 cm?. What is the radius
(in cm) of the larger circle?

ar gar @ PBrsEmnt & oA
91cm & qul 3% &ahd &
ALY HT IHdAT 2002 cm? @
?aﬁﬁﬁﬂﬂ(cm ) a7
.

a) 56 b) 42

c) 63 A 49

25
SSCCGL T2 19 Feb 2018



21. The area enclosed between the

1=3% circumferences of two
K"S% \buoncentric circles is 16w cm?
and their radii are in the ratio
24%2 oMA=16 T 5:3. What is the area of the
outer circle?
2 a"l%r ;aa:maﬁr
| 16T cm?
RS 8%x R ST ¢ 3R gEl B Proamt @
. Faqara 5:3 ¥ A gw W
=x=| SATET TaT |
Q-. g a)9 msqcm
b)167 sq cm
-5 /}&ZSnsqcm
d) 36 T sqcm

| CDS 201211 | 26



2TMf-217=1%2

= %22 x (K—Y);léé -
3

=) K—-Y: 2’

'Y

22. A path of uniform width surrounds

@,‘(

a circular park. The difference of
the internal and external
circumference of this circular path
is 132 meters. Its width is

fFdft gaFR aF F TR WE
aAT o= & TEaT & =9
qaFER TE & drd I#R
ARk TR 1 3aT 132 m &
IES i gl frae gei?

a)22 m b) 20 m

A21m  d)24m




23+ A horse racecourse is in the form

of an annular ring whose outer

and inner circumferences are

2 77R =748 m and_396 m, respectively.
The width/ (in m) of the

27R-21Y =352 ik awaRs o @A
_ +6_¥ 748 m 3 396 m | etz F
)Z"%i_“x({"");-%’?L A N e (m FH) W

wt (x-2
a)176  b)88

ﬂ 56 d) 28
|SSC MTS, 22 Oct 2021, S§8




24. There is a circular park of

{_ d diameter ‘d’. A circular path
Tz of uniform width ‘x’ meter is
d made outside the park. The

K= Z +% area of the circular path

outside the park is

. mm?mmm w
= CLICIES ‘x’
n (d+x> x Aex A vHEAE = F
AR TEd FT &T6 t
(mZ2a) gl
/frtx(x+d)
b) mx(x + 2d)

c) mx (x + g)
d)tx(2x + d)

| SSCCPO, 13 Dec 2019 S2 | 29






26€. The length of a side of an
equilateral triangle is 8 cm. The

'{-_— _8__:_ 4 area of the region lying between
zﬁp "B the circumcircle and the incircle

of the triangle is
K= £ UH gAAE BEor & Hor @
J3 aFaé 8 AL ¥ BT F

yaxga AR uRga & #ex
~—— ﬁaﬁmﬂaﬁmm%?

—,T ﬂ%\\%_ - a) 50; cm? %50; cm?

c) 75% cm? d) 75% cm?

| SSCCGL T2 12 Jan 2017 | 31
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